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The figures in the margin indicate full marks
for the questions.

Answer either in English or in Assamese.
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Answer all questions.
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1. Select the most appropriate answer from the
choices given against each : - 1x10=10

fReile Rew IR 2 wm TeRcht IR Sfevedt ¢
(a) Proﬁt maximisation ignores :
e TRt oY Al T ¢
(i) Wealth
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(ii) Time value of money o o ol ;
(ii) less than

(iii) Net value = = ,‘
, - (i) equ;u o G "!
(iv) None of the above. : , ! el
 eslRm @bte = | T 4 ‘ '

(b) “A firm is said to have high degree of
operating leverage if it employs a greater
amount of fixed cost and smaller amount of;
variable cost.” This statement is (i) True,
(ii) False. : |
“qot efevie fem W E, ARISE
LT WERT I W (o Ao @EE’
AR SeiE: PreEe @@ 3@ R

(iv) None of the above. e aeod |

@oiee «ble R | | |

(d) Cost of Preference share is :
SR S aﬁ'

(1) treated for tax

(ﬁf%?ctt g G{Wﬁ@mﬂ@)l WW@

(c) Under Net Present Value Method, a project e i
is accepted when present value (PV) o (i) not treated for tax
fmtﬂows is present value (PV) of S af:itg% :
inflows.

w T 50 (Net present value) 2I&fo® Qﬁf‘
oeE ol A=A CASH AT e AR
FENT 6 W W T EsE m

, (i) only occasionaly treated for tax

n._..-.—- 27 | (iv) None of the above.
(i) more than '
R . GIFE OIS qF |
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(e) ‘PrOJects with huge dlfference in initial eaplt"

B mvﬂ@%@mﬁlw)l

()

- (iii) maximise the value of firm

. ’(i\})'None of the above.
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.(11) False.

“(ii) prevent transfer of share

investment can be evaluated by usmg NP

method.” This statement Loy Tra

‘el T JR AL 4 e<FaTR. NP
qumﬂﬂ aﬂ%a vm%u (SEE! e'_

The objectives of good dividend policy is to §
©fF repics e Bow T 3
(i) minimise the retained earning

ek 4 WSl P T

SR e Mo i S e

dfovlRs o0 JE 4

LRIt R@‘r 5

(g) Prov1d1ng information to top management is
of financial management.

"%W:@ﬁaw mmme%a

ARG ———— |
(i) " recuﬁihg' function

vCﬂWS{(ﬁ? o
(i) non-recurring fimction_ .
| owsRe
(iii) routine function v

FafE b

(1v) advisory functlon -

@WWI'

(h) Optimum cap1ta1 structure refers to the debt-
equity mix where : :

m@mﬁaﬁqﬁ-m-wwwacﬂi'

e ekl [ T8
(1) debt is higher than equ1ty
Yol FANRAT @n‘ﬂzﬁ e
(ii) equity is higher than debt i
I QST W 2
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(iii) the firm's cost of capital is minimum and |
value of the firm is maximum

(iv) All of the above. -

82T BIREN |

(1) “When Proﬁtability Index exceeds one, the J
proposal is rejected’. Thig Statement is
(i) True (ii) False.

- ‘cafem Profitability Index e ST Ty
PO AP AR 1 =y (7 & wug
Trsd =) | : |
() _‘Capltahsatlon of profits process involves
issuing :

SR ereeTiael eifeF) ﬁrﬁ%mﬁa [&iiac) @%*
(1) Bond dividend
BA% W\“T

(ii) Cash dmdend
L T wepige

(iii) Stock dividend

B e

(iv) Property dividend.
TG Tepicn |
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Answer the followmg questions in about 30
words readh i L ! 2x5=10

: (a) State the advisory tunctlons of financial

management,

ﬁ@mﬂﬁm@www@mﬁw:

(b) What is Special Workmg capital ?
Rt s T oy

(c) State the meanmg of 'Gearing .of capital'.

T fﬁmﬁa’a wef Sead 30|

(d)'Deﬁne ‘Operating Leverage’.

AR ey &S ke fim |

(e) How - is modern techmques of capital

budgetmg different from tradltlonaI tech-
niques ? '

& W@W@WWWWW
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3 Answer the followmg questlons within 150 20

. words each. (Any four) : 5x4=20)

WWWISOZOO@W?‘TWW:
(R e 5ifsel) ¢ - -

(a) Why wealth maximisation is more viable
goal of finance function ? Explain.
o HRTIeRP ﬁ—‘ﬁtr I I 2N
fm @ = o i s

(b) Write a note on Optim»mn‘ Capité]. Str_licture
U JERA AN eeiwe <51 (B forany

(c) What aife the adverse effects of excessiv
working capital in a firm ?

AP G ST @Wﬁ%‘\r A
ﬁﬁcﬁﬂ 1%9

(d) Explain Profitability Index Method. -

Profitability Index ’*‘fﬁf@_ﬁ el ﬁ?m

; (e) What are the new role of" Finance Manage
after LPG ?

aﬂaﬁﬁﬁwwﬁ“ﬁmﬁﬁmw 12
tgﬁasff%f%? '
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(f) Ganesh Ltd. expects its cost of goods sold for
the year 2017-18 to be Rs. 500 lakhs. The
expected operating cycle is 90 days. It wants

to keep a minimum cash balance of Rs 15

- lakhs. What is the expected working capital
~ requirement ? Assume a year. consists- of 360
: days : '

e Rfiren 2017-18 = S R

W S AW = Rs. 5000 WY @Ry -

- WA b = 90 WAl Rs. 1.5 a9 o
(OeTENE R Rexl R qom 49|

L (OSEIRS SIS PESS). YoEwT AR
".%Smia?a@:eastﬂﬁw%o T\lell

4. Answer the followmg questions in about 600
10x4=40 -

words each’ :

aitﬁimmoﬁmml oo Tes frl g

‘(@) "Financial management is concerned with the

- solution of three major decisions — ﬁnancmg,

- investment and dividend." Explain the state-
ment highlighting 1nterrelat10nsh1p amongst

these three de0151ons

“Fﬁzr AR — e, ARG i me '
W%WWWWWW
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Or / wieal

~ What'is over capitalisation ? State the impact

'wﬁwﬁw@aﬁaﬁm‘?m ﬁmw

- (b)

of over capitalisation on consumers, firms

and shareholders.

SHYITY 8w 3R Afefa Sy 1)

‘A firm is considering the purchase of a

machine. Two machines A and B are
available, each costing Rs. 50,000. In

comparing the profitability of those ma-

chines, a discount rate of 10% is to be used.

Earning after taxation are expected to be as

- follows :

rRF N S SSRGS S

of$tol (e Res. SOOOOWE‘BWCSIFWA

i B @O W©itg | A (b Ae e

el el Beics 10% 18! (discount rate)
@R | 9 PloeT frEE oo <l e =

S RERCTE Ol e S O
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Year | Machine A Machine B | PV factor
Cash flow | Cash flow @ 10% |
‘(in Rs.) - (in Rs.) :
1st . | 15,000 215,000 0909
2nd {20,000 . - |'15,000 0'826
3rd | 25,000 20,000 - 0751
 4th 15,000 30,000 0°683
5th 10,000 20,000 10621

15000(W)

(©

Evaluate the pfojects using Pay back period
and Net present value method.

cﬁmﬁﬁwmmvvmﬁmm

Ecabal

Or / S

Explain the methods of evaluating Capital
Budgeting decision.

CEe e m@mﬁmm
i =9

Define Working Capital. What consideration
are taken into account in estimating  the
amount of working capital requirement in a
newly started company ?

- IS [EE A | g @A GBS
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- Explain the different techniques or methods

used for estimating the working capital
requirement.

JILHI T ﬁamwﬁfi‘m AGNSTIZ It
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.'(d) Identify and discuss the factors affect

ing a

.

firm's dividend and retention of earning

policy.

bt =AfSbER TNt T S AR <=1 AR

Financial management can use dividend

Or "/ w2t
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policy to
holder. Expla
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